- Blrecimns (Q 1 ‘?) Read the fnilnwmg passage and
:"'::_'-'--.f_EHHSWE!‘ the gwen questmns
Pnhtlcs is local but most pmmems are international.
"}3"3:?'_".:That is the fundamental problem for national governments
caught between the twm forces of globalisation and voters’
anger The Eur{}pean refugee crisis, for example, seems to
cr}f out fm a cﬂntmem—wme solution. ‘But the tide of
';-':f_-f_';'-f:miﬂrants has been vast and national governments have
been tempted fo put up barriers first, and answer guestions
~later. The latest example saw Sweden introduce checks on
thﬂse traveilmg from Denmark, leading the latter country,
 in turn, to impose temporary controls on its southern border
- with Germany. Anti-immigration parties have been gaining
';:_3'-'.-; n the pnlls with the exception of the German Chancellor;
~mainstream politicians want to head off the challenge. In a
B way, thiS looks like the same mismatch that has plagued
'f."f_}j;; the euro: a smgle currency w1th{}ut a umtary fiscal and
- pﬂlltitdt authﬂrity se i T e |
e Many ecﬂnﬂmlsts have admcated much greater
mtegratmn of the euro zune in the wake of the bloc’s erisis.
- The Fumpean banking system would be stronger if there
was a cmmprﬂhenswc dcpnszt insurance scheme; the
ecmnﬂmy ‘would be more balanced if there were fiscal

-~ transfers from ru,h to poor. countries. But such plans are
unpﬂpular wnh vuters inrich countries (who percewe theim:,
:'-__-'f"_';&Sf—-'“lﬂl'ldﬂutb) and in poor countries (Wh{} worry about the
;{;;-"_'-.'-'-iﬁ‘ij!lt.,d loss of lﬂcai control that rufﬂrms wnu!d reqmre) i
Al that the [:urnpean Unmn S (LU i1 leaders have manafrf:d-'}_' 5

~ so far is to cobble t%ether soluttons (such as the Greek
i :_4) Intexnatmnal CO- ﬂperatmn 1s declining which is

.:: '_',_baifﬂuts) at the ldbt minute. Gnne s the pledge of unity faf

""_-':"_"-:r:'-the G20’s summit in London i in 2009, when leaders agrcedf |
t:m a co- ﬂlrdlﬂﬂtﬂd StllTlllIUS in respunse m the fi nancial
.-.;.---':-;'-';:5';.CI'ISES Central bﬂﬂkb are now heacimg in dii"fcrent dlrectiﬂns' L :
_ the Federal Reserve has just tightened monetary Pﬂlzc}’_':"':'_."f _"23'51'.':3*"-.=;_'Wh“3h of the folmwmg has/have bfe“ the nutmme{s}
 whilethe European Central Bank and the Bank of Japanare e e T
-'::-";}'ff;_'_.cﬂmm|tted to easing. Trade creates tighter Imks between’_} (A) Unmmpmmlsmg or HHIHUDHIS{IE tﬂfel”“ ?ﬂhﬂ‘*
:"_f;'cc:untrles but global trade gl‘ﬂWth has been slugg:sh n '.
recent years. The C}ECD thinks that trade grew by crniy 906 - o
' - '(C) Dmp in trade vc:iumes

pﬂilti{:innﬂ suggest that voters” woes are all the fault o
foreigners, they find a ready audience. Furthermore,
economic woes can lead to much more aggressive forcign
policy. In the developed world, demographic constramts
(a static or shrinking work force) may limit the scope for the
kind of rapid growth needed to reduce the debt burden
and make voters happier. Boosting that sluggish growth
rate through domestic reforms (breaking up producer
cartels, making labour markets more flexible) is very hard
because such reforms arouse strong opposition from thosc
affected. The danger is that a vicious cycle sets in. Global
problems are not tackled because governments fail 10 co-
operate, voters get angrier and push their lcaders into more
nationalistic positions and conflict which poses a threat to
all.
|.  What can be concluded from the example of the Greek

bailout cited in the passage?

[} There is tremendous political turmotl i Greece.

2) The approach to the Greek financial crisis by kuro

zone was not appropriate.
3) Greece has recovered from the financial crisis.
4) A comprehensive system of deposit insurance need
not to be effective.

5} Greece is on the verge of another financial bailout.
2, . Which of the following is the central 1dea of the
.. passage?

1) A unified approach to regional issues is unwanted

... and impractical.

- 2) Globalisation is on the decline which will reduce
 social unrest.

3) Unlike America and Asia, Europe 1s in severe

f'nanmal difficulty.
- dangemus
L -'_f'{S) Resmrmg fdlth m develﬂped EC{}HGI’HIES wili take 3

long time.

_ ofe u:ﬂnﬂm:c woes?

'*:(B) An ali-pnwerfu! smgle ﬁnancml reﬂuiawl‘ for
Eumpe e

1n miume m 2(}15 Nn lunger 18 trade rlsmg faster thanj?f'

-.:";_:"_'7:_-;-_._agreements requlre compmmmﬁ whlch leaves pﬂl:tac:ans".i""_f;}_ﬁffi"f_.::g;_:}
~ vulnerable to criticism from inflexible cnmpﬂnems Voters
5'_;?;'.:_:- are already dtssa‘usf' ed wﬂh their lﬂt after years of sluggish{-‘ﬁ? - "'4) OHIY (B) & (C)

~ gains (or declines) in living standards When populist

~ global GDP, as it was before the crisis. lnternatmna1':;7.j'ff:f;-"":::-"'-"7""”5:'-.1)0'"11}’ (A)

9 Only (B)
3)Only(A) & (C)



Which of the following is true in the context of the

passage?

1) It is difficult for developed countries to achieve a

vigh growth rate at present.

2) Burope needs greater economic integration.

3) Politicians need to take the right steps rather than

yopular ones.

4) Anti-globalisation sentiment is quite high.

5) All of the given options are true in the context of the
passage

Which of the following can be said about the G20

summit in London 1n 20097

1) It was organised to address the fallout of the
financial crisis.

2} Countries did not follow up with a harmonised
approach to the crisis.

3) Sentiments of unity were expressed at the summit.

4) 1t was unsuccessful as assurances did not translate
mto action.

5) All the given options can be said

Which of the following best explains the phrase ‘“The

danger is that a vicious cycle sets in’ in the context of

the passage? |

[) Failure to sacrifice individual interests for commor
good perpetuates global problems.

2) With rise in income, consumption is boosted and
s0 15 debt.

3} Having common reforms takes away a country’s
autonomy.

4) Boosting trade with OECD countries makes
economies vulnerable to oil price fluctuations.

5) A shrinking workforce in developed and developing
countries worsens poverty.

Which of the following is the author’s view about the

refugee crisis?

1) 1tisan unmanageable problem controlling Europe
and Asia. _

2) To stem migration, rich countries need to safeguard
their borders.

3) Politicians have responded appropriately.

4) A joint approach is required to resolve the crisis,

5) None of the given options.

Directions (3. 8-12): Rearrange the given six

sentences (A), (B), (C), (D), (E)and (F) in a proper sequence
in a proper sequence 50 as to form a meaningful paragraph
and then answer the given questions.

(A) It also launched a policy to ban private cars one
work-day a week based on the last digit of the
number plate and has put restrictions on the
number of vehicles from outside the city and
raised parking fees in urban areas.

(B) Beijing’s annual bill for traffic congestion amounts

to 70 billion Yuan ($11.3 billion), a recent study
- has. found. |

10.

8

12.

.DE

. such measures have done little iy
}—{{]WEVE ; i
i ducing congestiot- S St P
L cudy further states that DEr €O o the
U
(D) The S

total 108S relates
cent 10 822 and

damage.
2011, it introd

(E) 45 number of ‘v’ﬁhiﬂ

ing to !

Ag g result, oWlliE :

(F) ackling the problem years ago. .
Which of the following should be the SECOND

s
sentence after the rearrangement:

to fHme wasted waiting, 10 pey
1 per cent 1O CnVIronmeniy]

uced a lottery system to rein i
les people buy.
hese losses, the city started

4)D 5)E

2)B 3)F .

gich of the following shouidqbe the FOURTH
after the rearrangementy .

sentence R o e -

DA |
"*.Fz’hich of the following should be the SIXTH (LAST)

sentence after the rearrangement? ﬁ

2)D 3)A 4B S5)F
Which of the following should be the FIRST sentence
after the rearrangement? |

DA 2)C 3)B 4)D 53k
Which of the following should be the FI¥FTH sentence

after the rearrangement?
DE 2)D 3)A 41 E S50
Directions (Q. 13-22): Read each sentence to find out

whether there isany grammatical or idiomatic errorinit.
The error, if any, will be in one part of the sentence. The
number of that part is the answer. If there is ‘No error’,
the answer is 5). (Ignore errors of puncfuation, if any.)

13

14.

i3,

In a short span of time, this start-up / website has
entrenched itself as the / go-to abode for cloth that
are / well-designed with care and attention.

1) In a short span of time, this start-up

2) website has entrenched itself as the

3) go-to abode for cloth that are

4) well-designed with care and attention
>) No error -

The battery-

: . Operated scooter / equipped on Lithium-
10n batterie

s that / provide it with ife /
a longer life / as
compared to the conventional ones.

;) The' battery-operated scooter
) eqmppegi on Lithium-ion batteries that



14 Scientists are increasingly concerned / about the
potential long-term effects / of global warming on our
/ patural environment and on the planet.

1) Scientists are increasingly concerned
2) about the potential long-term effects
3) of global warming on our

4} natural environment and on the planet
5} Noerror ‘

7. The most powerful advaritage / of the internet 1s that
it / decentralises work centres and / therefore makes
widespread empowerment.

1} The most powerful advantage

2) of the internet 1§ that it

3) decentralises work centres and

4} therefore makes widespread empowerment
5YNoerror ‘

18. The youngster has proven his ability as/ an aggressive

- sportsperson and age being / on his sides, he has a
huge / chance of succeeding in the near future.
1) The youngster has proven his ability as
2) an aggressive sportsperson and age being
3) on his sides, he has a huge
4) chance of succeeding in the near future
5) No error

19. Ever year in stunmer, many / tourists visit to Kumartuli
in Morth / Kolkata to watch the artisans / prepare the
idols of Goddess Durga.

1) Ever year insummer, many

2) tourists visit to Kumartuli in North
3) Kolkata to-watch the artisans

4) prepare the idols of Goddess Durga
5) No error

20. A partnership has been signed by / an Indian
nharmaceuticalscompany with / a one from Japan in
order to/'develepa vaccine for the chikungunya virus.
1} A partnershiprhas been signed by
2) an Indian ph#smaceutical company with
3) a one from Japan in order to
4) develop a vaecine for the chikungunya virus
5) No error

21. The new governinent has repealed / the pelicy of tree
speech in / the country, which has invited / nationwide
criticism from altand sundry.

1) The new government has repealed

2) the policy of free speech in

3) the country, which has invited

4) nationwide criticism from all and sundry
5)yNoerror

22. Nothing can be built in this area since / its soil is
saline and contains minerals that / would eat into any
concrete structure / that coming into contact with this
soil. |
1) Nothing can be built inithis area since
2) its soil is saline and corntdins minerals that

JRaE o B

3) would eat into any concrete structure

4) that coming into contact with this sodl

5)Noerror

Directions (Q. 23-30): In the given passage, (bere
are blanks, each of which has been num beved. Against
each, five words are suggested, one of which fits the hlank

appropriately. Find the appropriate word in cach casc.

According to a new study from an international
consortium, (23) up technology in the classroom docsn't
always lead to better education for children. The report
from the OECD tracked educational outcome among
students based on their use of technology at home and in
the classroom. (24) student performance (mproves whet
they use technology in moderation, the group found, (23)
to computers and the internet causes cducational
outcomes to drop.

The report further stated that (26) considerable
investments in computers, internet connections and
software for educational use, there is little solid evidence
that greater computer use among students lcads 10 better
scores in mathematics and reading. Report results are based
on an assessment in 2012 that tracked studenis in more
than 40 countries and surveyed them on computer habits
and conducted both written and digital tests. On average,
seven out of 10 students in countries surveyed use
computers at school and students average at least 25
minutes a day online. In some countries, like Turkey and
Mexico, about half of the students do not have (27) to a
computer at home. The survey found that students with
more exposure to computers do better, on average, than
those with little exposure to computers, but the OECD (28)
against drawing conclusions based on that result. The data
could simply (29) that school systems that invest in
technology also invest in better teachers and draw on
students from higher socio-economic class, who (340) to
perform betier in school.

23. 1) dispersing 2) beeting 3) installing
4) giving 5)amplifying

24. 1) Through 2) Even 3} While
4) Admitting 5) As

25. 1) overdoing 2)exaggerating  3) working
4} exhausting §) overexposure

26. 1) despite 2) withdrawal 3) by
4) though 5) why

27. 1) access 2} approach 3)avallability
4) excess ) practice

28. 1)wake 2) alerted 3) acted
4) said 5) cautioned

29. 1)reverse 2} highlights 3)disregard
4) reflect 5) cast

30. 1)inclined 2) tend 3} bound
4) contribute 5) bear
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Directions (Q. 31-33): Study the given information
carcfully to answer the given guestions:

Six books A, B, C, D, E and F, each of a different
thickness, are kept on a table. C is thicker than A, but
thinner than E. A is thicker than both B and D, E 15 not (ne
thickest. The third thinnest book is 9cm thick and the
thickest book is 16cm thick. (Note the thickness of all the

books are in whole numbers.)
31 11 E 15 Sem thicker than A, then how thick is E7

[y 11em 2)9cm 3)12cm
4} 14cm 3} Cannot be determined
32, With respect to the thickness of the given books, if C
t =21 thenA+C =]
1320
2} Other than those given as options
323
4315
5)19 i
33. i B is 8cm thick, then which of the following is true
about B?

i1 1 15 the third thinnest book of ali

2)Fis Scmthickerthan B

3) B is thicker than D,

3} All the given statements are true

Directions ({J. 34-36): Study the given information
carefully and answer the questions given below:

A 1s mother of B. B is sister of C. Disson of C. E is
brother of D. F 1s mother of E. G is granddaughter of A, H
has only two children - B and C.

34. Howis I related to H?

) Son-in-law 2} Daughter-in-law 3) Father-in-law

4) Granddaughter §) Niece
35 HowisCrelatedto E7?

1) Father 2) Son 3) Mother
4} Cousin 5) Grandfather

36. Who is mother of G7?
HC 2)B HF
4)EatherBorF  S)EttherCorF

Directions {Q. 37-41): In these questions, a
relationship between different elements is shown in the
statements. The statements are followed by two
conclusions. Give appropriate answer,

37. Statements: F£UZR:NgU<gL

Conclusions: LLZ2R ILN2F

1) Either conclusion [ or {1 is true.

2) Neither conclusion I nor II is true,
3) Only conclusion II is true.
4) Only conclusion I is true.
5) Both conclusion Land [1 are true,
38. Statements: Q<sU=E2N;R>A2E:T<O<N
Conclusions; . T<E CILR>N

19, Siﬂtfmgﬂﬁ:

usion 11 ig true.

4) Both conc gsion | and Il are trie.

usion 1 18 rue. bt 7
QﬂLJmEaN;{{?Ag T <O<N

' Conclusions: E#Q;‘”A ILA>Q
1) Only conclusion 1 1s true. -
2) Both conclusion 1 and Eiiare true.
3) Eithier conclusion lor Il is true.
4) Neither conclusion I nor 1 is true.

5y Only conclusion il is true. 1
41 Siatemymts: R<A2CzE;AzN2T,Cxgliz],

Conclusions: LNZR iLT<E

1y Only conclusion Il 1s true.

2) Either conclusion L or [I is true.

3) Neither conclusion [ nor 11 18 true.

4) Both conclusion [ and II are true.

5) Only conclusion 1 is true,

Directions (Q. 42-47): Study the given information
carefully to answer the given questions.

Seven athletes M, N, O, P, Q, R and S live on seven
different floors of a building but not necessarily in the
same order. The lowermost floor of the building is numbered
one, the one above that is numbered two and so on till the
topmost floor is numbered seven. Each of them runs for a
different distance in marathon —850m, 1300m, 2200m, 2800m,
3300m, 4000m and 4700m, but not necessarily in the same
order. |

The one who runs for 2200m lives on the floor
zfzt;if;é}' ?g}’ One person lives between O and the one
immediatelyraﬂi{}% Tg Al Wh@ iy 'fc}r A e
8B rhio e "-;}ﬂd n}y one person lives between the
The numbgf h r | elﬂ : T a‘n_d the ﬂ?&-ﬁﬂgh& runs for 1300m.
runs for 130@mpis {I; 5 "m:ng-b@t‘b’@’;ﬂiﬂﬂ%é- and the one who

C 5ame-as that between the one who

funs for 4000m and R. N fives on an odd-numbered floor. N

runs for 20 '
00m more than the one who lives on floor number

L NN Lt
2. HoWmany neguita fo.. o oSl g
ety people Hive Bofwmon & o

| 3)Five . 5}.011@
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Studv the fﬂilﬂwmg

-f-if:-c-e-asar ly 1-n_.-.:.the Sdf‘ﬂ{f’: nrder ’iﬂme uf 1hf:m are facmg

nort h 'u-.eh tz]’.f.f

s uru‘n ¢

some are facing south.
Kagan nmm.dmte:'rn.;whhﬂur foh ‘one mttlnﬂ at an

extreme end of the line. Only three 'pmple snbetwcenf

K oand M,
J S5 wu.nnd m e th {}i M } dﬂ
: nd of Eh{, 1|11L

Cgits on the immediate left of G N

nut alt at an

is nut an lmden{e

['iblﬂ%hﬂﬁt‘ of M. The immediate ﬂuu,hhuura m (; face
dift.ﬂ-t‘ﬂﬁb {1g

11 one m.whbmfr mu nmth

u-gw pgmlt

.....

A0 Which of !]‘E{ folfowing pairs reprosents e

S0 Wi 1t is the position ol K with re:

A Oniy tmu persons sif hetweoen | Aried
13 fiu"‘*'{ i liiluﬂuuu; o « fhat of J.
”"-} All the "HLH stalemenis are tnue

net gj_?,l hours of 17
L, N L HLH 4Lk
it {0y |,

1) limmediate right 2} b *Hzf‘ LO 20E T

1) Third to the left
§) tnunediate left
Four of the given lve are alike i
. on the given arrangement and ?i_{::-jri{_:-{i_:

~Which of them does not belong 1o il
sl IM 2V HL 3 4y K Sy
52, How many persons sit on the left of O

1yOne 23 Two

3) More than three 4)

45 Third 1o the right
riain way Py G
'E"r;'}'_f' o4 Ui

T gJ :

NOne

5y Threc
Directions (Q. 53-57):

Study the follow PEE L

information carefully and answer the given qnuimm

r'

Eight different people, viz K. L, M, N VW, X

sitting around a circular table facing v the cenire *

necessarily in the same order. bach ol t‘r m Hikes a diieront
brand of clothes, viz Nautica, Chemistry, Zara, Mango,
Puma. Adidas, Zodiac and Park Avenue bul not necessasizy
in the same order

Only three people sit between X ana the pne w
likes Zodiac, V sits second to the right of X. The one who
likes Nautica sits third to the left of Y. Y
Zodiac. The one who likes Zodiac is not an unn
neighbour of Y. Only three people sit between Y an i the
one who likes Chemistry. W does not fike Chemstry. 1he
onc who likes Puma sits on the immediate teft of KUK 15 not
an immediate neighbour of V. Only two people sit between
the ones who like Puma and Zara. M is one of the immeediate
neighbours of the one who likes Zara. The one who hikes
Park Avenue sits on the immediate right of L. Only three
neople sit between L. and the one who likes Adidas.
‘sE Four of the following five are alike In a certain way

bd‘ﬂ,d on the given arrangement and thus form a group.
iut_h_ is the one that does not belong to that group”?

""___!'5):?["\/1{ N-dutlcﬂ " )X Adldd% 3 ) V-Zodiag

: 35'-5;: S) N F'.;u k Av{:nu

does not like

.




27

4) The one who likes Nautica

L W .

Who amongst the following sit(s) exau:tly between the
ones who like Puma and Zara when counted fmm the

right of the one who likes Zara?
1) The ones who like Adidas and Mango
Z2) N and the one who likes Park Avenua

HXandY
43K and W

5} V and the one who likes Chemistry

Directions (Q. 58-62): In each question below are
given two or three statements followed by two conclusions
numbered I and IL You have to take the given statements to
be true even if they seem to be at variance with commonly
known facts. Read all the conclusions and then decide
which of the given conclusions logically follows from the
given statements dasregardmg commonly known facts.

(zive answer

1} if only conclusion I follows.

2} tf only conclusion 11 follows.

3) if either conclusion I or II follows.

4) if neither conclusion ! nor 1 follows.
5) if both conclusion I and 11 follow.

38, Statements:

Conclusions:

50. Statements:

Conclusions:

60. Statements:

Conclusions:

61, Statements:

Conclusions:

62. Statemenfs:

Conclusions:

Directions (Q. 63-65) Study the gwan mt‘nrmatmn :

Al packets are envelopes,

No envelope is a gift.

Some gifts are boxes.

L All envelopes are packets,

L. All boxes can never be envelopes.

All diaries are novels.

All novels are biographies.

Some biographies are scripts.

I. At least some diaries are scripts.

H. No diary is a script.

Some days are months.

Some months are weeks.

i. Some weeks are days.

I1. No week 1s a day.

All packets are envelopes.

No envelope is a gift.

Some gifts are boxes.

L All packets being bt}xes is a
possibility.

Il No packet is a gift.

All diaries are novels.

All novels are bmg:rﬁphles.

Some biographies are scripts,

L Al diaries are biographies.

IL Some scrzpfs are deﬁmtely not
novels, -

carefully to answer the given questlﬂns.

Point E is 16m to the south of Pmnt C Pmnt F IS4dmto
the west of Point E. Point H is"5m to the snuth of Point F.
Point J is 12m to the east of Point H Pﬂmt Yi is ﬁ‘:- theeast

65.

5 15m from Point ¥ towards west
ﬂﬁ turn and reaches Point J,
of the distance between the

5) None of these
ks 20m towards north from Point Z
4 walks 8m, how far will he be from

4)8m

[f a person wd
takes a left turn afl
Point C?

1)2m

4)4m

In which direction
1) Northwest

4) East

5) m
is Point Z with respect to Point H?

2) Northeast 3) Southwest
5) Southeast

Test-111: Quantitative Apﬂﬁm@

Directions (Q. 66-70): What appmximﬂﬁe value sEmm

come in place of questanﬂ mark (?) in the following

questions? _
66. 90.05+281+4—151.06= 32 .
D27 2343 3)216 4729 5)U3
67. 17.982+(4.05?%90.11+4.98=7 -
1396 2)336  3)242 4325  5)365
68. 80.04%0f150.16+60.02% of 50.07=7"
IS0 2)125  3)210 4175 5)140
69. 628 x 17.996+15.04=2 e
D36 210 3)5 4)20:... .5)15
1 1 | e % i e :
70. BK Sx 5_ | o
DS 245 315 410 §2S

Directions (Q. 71-75): What will g?g come in place of

question mark (?) in the fﬂlluwmg rmgnher sarm‘?

bag cantams 24. G s A

7. 14 8 7 2118, mﬁ% 7
ss N64 _3)62 4}53 - 5}56
72. 8 4 25 - 46 ﬂ ' ,} _
D132 2130  3yi3%  &y14
. e J130  3)138 > 4)263 5)148
i 4..30 "9 1885
S e 2)3367 3)364 4)376 5 356
s )78 - 2) 5’3' 3)72 4)";7 5) 50
% 2)355 _.3)335 4)455 """ )395
76.
6 Five }’ears age Sam s age‘"*’was -; af ﬁmlt s age al
_-:i-:isiliff The rato of Anit' 12 iy e
L 1) - s ﬂgﬂ thre ee }’ﬂars ago‘? (11‘1 yem‘s}
| 2}29 3)1’}' 4}25




at randnm What is the Frﬂbabiilty that {}Hﬂ nl" tha_:’ﬂﬂf

eggs is rotten? . .
17 17 | 32’ .. 62

= 1_._4) e

B

. A B and C staried a busmess with lhmr mvestmeni 1
3 5. Aﬁer 4 m{mths A mvﬂatnd lh:;

the ratio uf ]
same amuunt 35 befnre but B as well as C wnhdrcw

 half of their mvestmemh The l‘atm 0[‘ the;r prn[‘ta dt.
the end ﬂf the year s -- - -
_Dl23

2)3:4 15

3)3 S l{]
5)4 5110 |

4)5:6: 10

. Each edge nf a cube is decreased by 3{]% Fmd {hL :
.-'decrease in its velurne o |

- 625
. The mrcumfarﬁnce ﬂf the semamrcle IS 180 cm. If the

B35 3)67'7' 4)62’7 5)657

~ sideofasquare is 6(}% mﬂre than the diameter ﬂl" the
 circle, then what is the penmeter nf the squarf:’? '_

5f ;f'1)363cn1
. 4HM8em
8

 2)464cm

3)486 cm
1 5)3ddem o

5_.._"fhe cost prme nf two beds are equal One bed is sold

| . ata pmﬁt of 30% and the other one for T5504 less than

the first one. If the overall prufit earned aﬁer seilmg

e -.:-"-bnth the beds is 14% what S the cost pnce ﬂf each
S :-bﬂd'} 2 : :

::f}jﬁl)?17000" 2)?1@300- 3)?17600
. HUT800 5)%17200

~ ofthe mixture was taken out fromJ ar A and putin jar B.

- 'ﬁiutnhe‘i—;ﬁf bagssuld it

400 4
350 1

= o

150 R on

=

If after adfimg 6 l1tres of water in the mixture, the ratio
of milk to water in Jar B was 5 : 2, then what was the
amount of mixture that was taken out from Jar A (in

litres)?

D3 N 3)30 . 4360 54

b E}Irectmns (Q. 83-87): Refer to the graph :md answer

the given questions.

Data related to the number of bags sold by two
stores (M & N) during 5 years

InJar A, 180 llt.l."ES milk was with 36 litres waier Some

2008

2009

D

2012

o

230

f?’ﬂ' _

.' 34{1 .

e

.__+N

320

310

"330:

| 250

83 102008, 30% of the bags sold by Store M a.nd 25% nf
~ the bags sold by store N were leather bags What was

- 89,

86,

87,

88.

the total nanber of leathior bags
M together in 20087

163
o What s the ratio of the el number oF Bap

4)¥35000

iglit 51),:' R B G
)J =Eat'i&“'i 1:;} ""th ’%} i":;f.‘ thI ey

B topeller by JOUY Lo that .-fh'? b7
F112:17 231114 i 1]
4517 : 12 Spid 1Y

I the averspe number ol bags si9lal Y
3011, 2002 and 20173 wan 350, wiriat wis
bags sold by the swme store 11 AR Wi
1)510 27 540 13550 Ayl 51 4713 |
The number of bags sold by Store B decroans 4 b

stores M and b

3
i FA - e, P P
Tiier FRR3dgiisest

what per cent from 2008 1o 20127

- . "
4) [ 6~ 5) Nane of theoe

What is the difference botween the total nimoes 4
bags sold by stores M and N together in 2009 A thut
in20117

BRRLE 21100
43120 5) 140
The ratio of the monthly salary of Om to that of P e
7+ 9. Om and Pihu both save 20% and 44% of thoir
respective monthly salary respectively. Om Nvests

! 7

RIS

> of his savings in PPF and Pihu invests 7 of nis

£

savings in PPE. If Om and Pihu together saved 217500
in PPF, what is Pihu’s monthly salary?

NT72000 2)Z36000 3)%45000
5)Z540010)

Directions (Q.89-93): In cach question {two equations

numbered [ and [f are given. You have to solve hoth the
equations and mark the answer

89.

91
w9
- ':Raw mvcstcd ?P m a %chcmc A offering simple interest
- atl0%pa for two years. He invested the whole amount
- he received from scheme A in another scheme B
lg-{'}-*-} S .'_-_'-_”_{}ffermg mmplc mternat at i2% pa fur five years. If the

T o '_ ~ difference between the interests earned from schemes

.'l X Hlxﬁwlﬂ“’(}

Nifx>y ixzy 3)ifx <y
ifx<y

5) if x = y or no relation can be established between x
- andy. =

E4x*—15x+14=0 IL 6y 10y +4

L 3 +10x+3=0 1L 2\53 + 15y + 27
LI 124570 L3R Ty 2=

L 16x - 14x+3= 0 IL6y-

EE y? -

- 19y 15 ()

- 481 =0

. -A and B was ? ! 300 whai Is thc value of P?

1)%2590 “ 222000

)?JOUQ
;_S)?ﬁﬁﬂo_ .



Directions (Q. 95-99): Study the tabie and answer the
given questions,
Data regarding the number of students studying
various streams in various Universities {St Christ, PD
_and Kelly}in the year 2012

University -3 %{ ('hrﬁt

Please Note: Total students = Female students + Male

students

93. The total number of students studying in Stream C in
St Christ and PD together is what per cent less than
that of those studying in Stream B in the same
universities together?

)20 2)12.5 3)I8  4)1525 5)None ofthese
The number of males studying in Stream B in he%i}- 1S
what per cent of that studying in Stream C in St Christ?
D 122 2) 40
7 1

4) 54—

5) None of these

iy of the total number of females "\ﬁid"l.ﬂu_
-.;“tL
i ogcther i PD unaversity 1o the

-E
!.1-
o i FEY i3

Stream ﬁw . males studying i the same Streamg
5 owmarre PYT 4 :
.11;;.._1_.___,‘,..

N10:13 2
;} yone of these
ales azudx ing in Stream D in all e
..-ﬂﬁ:;?tht,f!n 2013 was |90 more than thy
2012, In 2013 W hat was the total number of
- ﬁﬁ' : b ‘..mﬂ;t*} studying in stream D ip g

S % o iy
students {\i aie
the universilies iii;‘!ﬁﬁ’.‘i'}‘tf?!‘., if the total number of male

F S 3 A S s e
J o L constituted = of the
students i Sircam Nip 20 C 5 Ol the

ﬂ'{‘hﬁ iﬁ”"r

rotal number of students? 5 - .
2500 2)3500 N4300  4)4000  3)3200

What is the average number of male atuduu Studying

in stream A in all the given universiies'
)1100 2)1250 3)1150 4) 1200 5} Kﬂne of these

100. The distance between two cities (M and N} is 369 km
A train from City M at 8 am travels towards City N ar
53 kmph. Another train starts from City N at 9 am and
travels towards City M at 76 kmph. At what time will
the {rains meet?
1Y12:30pm
4)1:30pm

231:00 pm 3}2:30pm

332: 00 pm
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